SECTION 4.9: ANTIDERIVATIVES

. Find a particular antiderivative of f(z) = 9 + x — 2°.
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. Find all antiderivatives of f(x) = 9 + x — 2.
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. To find all antiderivatives of a function f(z), do you always just add a +C? Explain how to con-
struct a “generic” piecewise function where you're not using just +-C' to describe all antiderivatives.
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. For each of the following functions, find a Earticular antiderivative.
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6. Computtiderivative of f(z) = 15220 + 4420 + 8
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7. Compute an antiderivative of f(t) = 5e¢ 3 Y Asint — n +e?
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8. Compute an antiderivative of f(x) = cos(3x).
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9. Compute the antiderivative of f(¢) = ¢ that equals 5 when ¢ = 2.
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